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PROFESSIONAL EXAMINATION BOARD
Group­1 Post Graduate Selection Test 2016

20th March 2016, 09:00 AM
Topic:­ General Knowledge 
1)

Question Stimulus :­

General Knowledge

Who was the first women chief minister of Madhya Pradesh?/म鼈ᨅदॕष कॎ ᨅथम मोऻलॊ
मॏ꜊ मॠ�ॎ कग़न थॎ ॠ?

Meera Kumar/ मॎरॊ कॏ मॊर

Sushma Swaraj/  ॏऺहमॊ उरॊज

Uma Bharti/ उमॊ भॊरतॎ

Sarla Grewal / ऺरलॊ 瀅ॕशॊल

Correct Answer :­Uma Bharti/ उमॊ भॊरतॎ 

2)

Question Stimulus :­

General Knowledge

Which state is to the west of M.P.?/म. ᨅ. कॕ पो봅म म७ कग़न­ऺॊ रॊ甉 ऻॖ?

Goa/ गख़शॊ

Gujrat/ गॏजरॊत

Uttar Pradesh/ उर ᨅदॕष

Maharashtra/ मऻॊरॊစ३

Correct Answer :­Gujrat/ गॏजरॊत 

3)

Question Stimulus :­

General Knowledge
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General Knowledge

Which of the following district was not added to Madhya Pradesh in
1956?/ोन꤅ म७ ऺॕ कग़न­ऺॊ ोजलॊ 1956 म७ म鼈ᨅदॕष म७ ऺ瘂紈ोलत नऻॎ ॠ थॊ?

Bhopal/ भख़पॊल

Indore/ इॠदग़र

Gwalior/ 쐇ॊोलयर

Nagpur/ नॊगपॏर

Correct Answer :­Nagpur/ नॊगपॏर 

4)

Question Stimulus :­

General Knowledge

Who was the first Vidhan Sabha speaker of M.P.?/म. ᨅ. कॎ ोशधॊन ऺभॊ कॕ ᨅथम
ऺभॊपोत कग़न थॕ?

P Kunjilal dubey/ पॠ. कॏॠ जॎलॊल दॏबॕ

Tejlal Tembhare/तॕजलॊल टॕ㸃ठभरॕ

Gulsher Ahmad/ गॏलषॕर अऻमद

Srinivas Tiwari/ 餅ॎोनशॊऺ ोतशॊरॎ

Correct Answer :­P Kunjilal dubey/ पॠ. कॏॠ जॎलॊल दॏबॕ 

5)

Question Stimulus :­

General Knowledge

Which among the following is The Business capital of Madhya Pradesh?/
ोन꤅ ोल瘂खत म७ ऺॕ म鼈ᨅदॕष कॎ 䰈शऺॊोयक रॊजधॊनॎ कग़न­ऺॎ ऻॖ?

Bhopal/ भख़पॊल

Indore/ इॠदग़र

Gwalior/ 쐇ॊोलयर
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Jabalpur/ जबलपॏर

Correct Answer :­Indore/ इॠदग़र 

6)

Question Stimulus :­

General Knowledge

Which of the following is a District of Madhya Pradesh?/ ोन꤅ म७ ऺॕ कग़न­ऺॊ
म鼈ᨅदॕष कॊ एक ोजलॊ ऻॖ?

Agar Malwa/ आगर मॊलशॊ

Mhow/ मᄅ

Pipariya/ ोपप瘂रयॊ

Budhni/ बॏधनॎ

Correct Answer :­Agar Malwa/ आगर मॊलशॊ 

7)

Question Stimulus :­

General Knowledge

State Tribal museum is situated in: /रॊ甉 जनजॊतॎय  ॠऺ瀅ऻॊलय 瘂थत ऻॖ­

Bhopal/ भख़पॊल म७

Indore/ इॠदग़र म७

Jabalpur/ जबलपॏर म७

Guna/ गॏनॊ म७

Correct Answer :­Bhopal/ भख़पॊल म७ 

8)

Question Stimulus :­

General Knowledge 
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Old Vidhan sabha in Bhopal is also famous as which of the following name?/ भख़पॊल
म७ 瘂थत पॏरॊनॎ ोशधॊनऺभॊ और ोकऺ नॊम ऺॕ ोश꜊ॊत ऻॖ?

Edward Hall/ एडशड१ ऻॗल

Minto Hall/ ोमॠटख़ ऻॗल

Indira Hall/ इॠोदरॊ ऻॗल

Gandhi Hall/ गॊॠधॎ ऻॗल

Correct Answer :­Minto Hall/ ोमॠटख़ ऻॗल 

9)

Question Stimulus :­

General Knowledge

Which of the following is present in Mandu?/ ोन꤅ म७ ऺॕ मॊॠडॐ  म७ ܊ॊ 瘂थत ऻॖ?

Asharfi Palace/ अषरफॎ मऻल

Roopmati Palace/ 䐈पमतॎ मऻल

Jahaz Palace/ जऻॊि मऻल

All of the above/ ऊपरख़촉 ऺभॎ

Correct Answer :­All of the above/ ऊपरख़촉 ऺभॎ 

10)

Question Stimulus :­

General Knowledge

Ahilya Bai belongs to which of the following dynasty?/ अोऻ䴉ॊ बॊई ोन꤅ म७ ऺॕ
ोकऺ रॊजशॠष ऺॕ  ॠऺब蔇 ऻ॰?

Holkar/ ऻख़�र

Bhopal/ भख़पॊल

Scindia/ ो ॠऺोधयॊ

Tripuri/ ो�पॏरॎ
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Correct Answer :­Holkar/ ऻख़�र 

11)

Question Stimulus :­

General Knowledge

State planning Commission office of M.P. is situated in which building?/
म.ᨅ. म७ रॊ甉 यख़जनॊ आयख़ग कॊ कॊयॊ१लय ोकऺ भशन म७ 瘂थत ऻॖ?

Rajbhawan/ रॊजभशन

Pustak Building/ पॏ⌉क भशन

Vallabh Bhawan/ शभ भशन

Vindhyachal Bhawan/ ोशॠ鼈ॊचल भशन

Correct Answer :­Vindhyachal Bhawan/ ोशॠ鼈ॊचल भशन 

12)

Question Stimulus :­

General Knowledge

Jabalpur is famous as the _________capital of Madhya Pradesh?/ जबलपॏर
म鼈ᨅदॕष कॎ_______  रॊजधॊनॎ कॕ 䐈प म७ ᨅोऺ蔇 ऻॖ।

Business/ 䰈ॊपॊर

Music/  ॠऺगॎत

Tourism/ पय१टन

None/ कख़ई नऻॎ ॠ

Correct Answer :­None/ कख़ई नऻॎ ॠ 

13)

Question Stimulus :­

General Knowledge 

Which of the following city is famous as Holy city of Buddhist?/ोन꤅ म७ ऺॕ कग़न­ऺॊ षऻर
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बग़蔇 धम१ कॕ एक पोश� षऻर कॕ 䐈प म७ ोश꜊ॊत ऻॖ?

Sanchi/ ऺॊँचॎ

Khajuraho/ खजॏरॊऻख़

Vidisha/ ोशोदषॊ

Sagar/ ऺॊगर

Correct Answer :­Sanchi/ ऺॊँचॎ 

14)

Question Stimulus :­

General Knowledge 

Ami Kamni is associated with which sports?/ अमॎ कॊमनॎ ोकऺ खॕल ऺॕ  ॠऺब蔇 ऻॖ?

Softball/ ऺॗ︉बॗल

Snooker/ ᄇॐकर

Wushu/शॐषॐ

None of these/ इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Snooker/ ᄇॐकर 

15)

Question Stimulus :­

General Knowledge

Tawa Canal is present in which of following district?/ तशॊ नऻर ोन꤅ म७ ऺॕ ोकऺ
ोजलॕ म७ 瘂थत ऻॖ?

Hoshangabad/ ऻख़षॠगॊबॊद

Bhopal/ भख़पॊल

Guna/ गॏनॊ

Datia/ दोतयॊ
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Correct Answer :­Hoshangabad/ ऻख़षॠगॊबॊद 

Topic:­ General Hindi
1)

Question Stimulus :­

‘अद्भॏ त’ रऺ कॕ ठथॊयॎ भॊश कॊ नॊम 鐄ठयॊ ऻॖ?

ोशठमय

रोत

उ戂ठऺ ॊऻ

इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­ोशठमय 

2)

Question Stimulus :­

Hindi

एक ऺॕ अोधक उपऺग瘂 ऺॕ बनॊ षЃठद ऻॖ­

अनॊऻॊर

आऻॊर

ᨅॊचॊय१

ᨅऻॊर

Correct Answer :­अनॊऻॊर 

3)

Question Stimulus :­

Hindi

त謇श ष༈ कॊ चयन कॎोजए।

षकॏ न

शॊ
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䰈थॊ

बॖल

Correct Answer :­बॖल 

4)

Question Stimulus :­

Hindi

ोन꤅ म७ ऺॕ ोकऺ ष༈ कॎ रचनॊ ᨅय ऺॕ ᄅई ऻॖ?

ᨅोतकॐ ल

ᨅॊचॊय१

क॑पॊलॐ

उህम

Correct Answer :­क॑पॊलॐ 

5)

Question Stimulus :­

Hindi

ोऻ�ॎ शण१मॊलॊ म७ 䰈ॠजनख़ ॠ कॎ  ॠऺ꜊ॊ ोकतनॎ ऻॖ?

32

34

33

36

Correct Answer :­33 

6)

Question Stimulus :­

Hindi
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ोन꤅ ोशकख़ॠ म७ ोकऺॎ एक कॎ शत१नॎ षॏ蔇 ऻॖ, चयन कॎोजए।

मॏᄅ१त

मॏᄅत१

मᄅत१

मॏᄅत१

Correct Answer :­मॏᄅत१ 

7)

Question Stimulus :­

Hindi

ोन꤅ ोशकख़ॠ म७ ऺॕ षॏ蔇 शॊ܊ कॊ चयन कॎोजए?

एक फॐ लख़ ॠ कॎ मॊलॊ लॕ आइऐ।

फॐ लख़ ॠ कॎ मॊलॊ लॕ आइऐ एक।

फॐ लख़ ॠ कॎ एक मॊलॊ लॕ आईए।

फॐ लख़ ॠ कॎ मॊलॊ एक लॕ आईऐ।

Correct Answer :­फॐ लख़ ॠ कॎ एक मॊलॊ लॕ आईए। 

8)

Question Stimulus :­

Hindi

ोन㸃ठनोल瘂खत शॊ܊ख़ॠ म७ ऺॕ  ॠऺदॕऻ शॊचक शॊ鐄ठय कॊ चयन कॎोजए।

परख़पकॊर ऻॎ मॊनशतॊ ऻॖ।

अब तक ऺब तॖयॊरॎ ऻख़ चॏकॎ ऻख़गॎ।

मॕरॎ बॊत मॊनख़ और ोदल लगॊ कर पुख़।

ठशॊथ戂 ठय瘂촉 कख़ ोमञ नऻॎ बनॊनॊ चॊोऻए।

Correct Answer :­अब तक ऺब तॖयॊरॎ ऻख़ चॏकॎ ऻख़गॎ। 
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9)

Question Stimulus :­

Hindi

ोन꤅ोल瘂खत शॊ܊ म७ रॕखॊॠोकत ष༈ कॕ ोशलख़म ष༈ कॊ चयन कर 瘂र촉 थॊन भ瘂रए।

ऻम७ ऺॊ瘂딇क भख़जन करनॊ चॊोऻए, ______ भख़जन षरॎर कॕ ोलए ऻॊोनकॊरक ऻॖ।

ॠऺतॏोलत

तॊमोऺक

अ ॠऺतॏोलत

इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­तॊमोऺक 

10)

Question Stimulus :­

Hindi

ोन꤅ ᨅ餅 कॕ ष༈­ यॏ漈 कॕ ोशकख़ॠ म७ ऺॕ ऺऻॎ अथ१­भॕद कॊ चयन कॎोजए।

तरणॎ­तरोण

तरणॎ­मग़कॊ

मग़कॊ­नग़कॊ

ॐऺय१­नग़कॊ

नग़कॊ­ ॐऺय१

Correct Answer :­नग़कॊ­ ॐऺय१ 

11)

Question Stimulus :­

Hindi

“ोजऺकॎ लॊठॎ उऺकॎ भ॰ऺ” म७ ________ऺश१नॊम ऻॖ।
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पॏ䐈ह शॊचक

ोनज शॊचक

ऺ興ॠध शॊचक

ोन봅य शॊचक

Correct Answer :­ऺ興ॠध शॊचक 

12)

Question Stimulus :­

Hindi

‘अथ瘂पॊज१न’ ोकऺ  ॠऺोध कॊ उदॊऻरण ऻॖ?

दॎघ१ उर

गॏण उर

यण उर

अयॊोद उर

Correct Answer :­गॏण उर 

13)

Question Stimulus :­

Hindi

‘ोन㸃ठनोल瘂खत षЃठदख़ ॠ म७ कग़न­ऺॊ बᄅ䐅ॎोऻ’ ऺमॊऺ कॊ उदॊऻरण नऻॎ ॠ ऻॖ?

ो�लख़चन

ोशहधर

गजॊनन

ो�भॏशन

Correct Answer :­ो�भॏशन 

14)
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Question Stimulus :­

Hindi

“चरण कमल ऺम कख़मल” म७ चरण षЃठद ऻॖ­

उपमॊन

उपमॕय

ऺॊधॊरण षЃठद

शॊचक षЃठद

Correct Answer :­उपमॕय 

15)

Question Stimulus :­

Hindi

ोन꤅ म७ ऺॕ ोकऺ ऺमॐऻ म७ ऺभॎ ष༈ ‘ऺमॏህ’ कॕ पयॊ१यशॊचॎ ऻ॰?

जलोध, ऺॊगर, ऺर, तरॠगॊ

अॠबॏोध, ोऺ﬇ॏ, उदोध, मऻॊण१श

उदोध, तीॊग, तरॠग, ऺर

ऺॊगर, ोऺ﬇ॏ, ऺॕतॏ, तरोन

Correct Answer :­अॠबॏोध, ोऺ﬇ॏ, उदोध, मऻॊण१श 

Topic:­ General English
1)

Question Stimulus :­

English

Choose the option which can be substituted for the given sentence.

One who is unable to pay his debts.

Wealthy.

Successful.
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Bankrupt.

Solvent.

Correct Answer :­Bankrupt. 

2)

Question Stimulus :­

English

Out of the given options choose the one with the correct spelling.

Judgement.

Judgment.

Judgemant.

Judgament.

Correct Answer :­Judgement. 

3)

Question Stimulus :­

English

Find out which part of the sentence has an error. If there is no error, mark
your answer as ‘No error’.

The enemy has received (a)/ many information’s regarding (b)/the
activities of the army (c)/of our neighboring countries. No error (d).

(a)

(b)

(c)

(d)

Correct Answer :­(b) 

4)
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Question Stimulus :­

English

Arrange the following sentences to form a logically coherent paragraph.

A. linked with lack of self­confidence.

B. Basically, for a child to understand a language,

C. Stammering is a habit disorder

D. there are four stages.

CBAD.

CABD.

BCDA.

DACB.

Correct Answer :­CABD. 

5)

Question Stimulus :­

English

Complete the following sentence by choosing the correct form of verb.

He has _____ a lot of courage during his times of adversity.

show

shows

showing

shown

Correct Answer :­shown 

6)

Question Stimulus :­

English
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Complete the following sentence by choosing the correct conjunction.

Tina was unwell, _____ she went shopping with her friends.

and

so

yet

therefore

Correct Answer :­yet 

7)

Question Stimulus :­

English

Complete the following sentence by choosing the most appropriate word
given below:

Would all those in favour please _______ their hands?

rays

raise

raze

race

Correct Answer :­raise 

8)

Question Stimulus :­

English

Complete the following sentence by choosing the correct preposition.

All the boys quarreled _________themselves.

among

between
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across

besides

Correct Answer :­among 

9)

Question Stimulus :­

English

Complete the following sentence by choosing the correct article.

I saw _______ one­eyed man yesterday.

the

an

a

No article required

Correct Answer :­a 

10)

Question Stimulus :­

English

Complete the following sentence by choosing the correct determiner.

I requested him to bring me________ books.

less

little

few

a few

Correct Answer :­a few 

11)
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Question Stimulus :­

English

Complete the following sentence by choosing the correct Phrasal Verb.

While giving evidence in the court, she ______.

broke up

broke into

broke down

broke off

Correct Answer :­broke down 

12)

Question Stimulus :­

English

Tick the option that has the same meaning as the word underlined in the sentence.

One must try to overcome adverse circumstances.

favorable

unfavorable

climatic

pleasant

Correct Answer :­unfavorable 

13)

Question Stimulus :­

English

Tick the word that is opposite in meaning to the word that is underlined.

Shakespeare was a prolific writer.

productive
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unproductive

popular

famous

Correct Answer :­unproductive 

14)

Question Stimulus :­

English

Complete the following sentence by choosing the correct modal.

She works hard so that she _____ pass.

might

may

should

shall

Correct Answer :­may 

15)

Question Stimulus :­

English

Complete the following sentence by choosing the correct order of
pronouns.

________ will watch movie tonight.

You, Sonal and I

Sonal, You and I

I , You and Sonal

I , sonal and you

Correct Answer :­You, Sonal and I 
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Topic:­ General Computer Knowledge
1)

Question Stimulus :­

Computer

Drum Pen is a type of­/ड३ म पॕन एक ᨅकॊर कॊ ______ ऻॖ।

Printer/ ोᨅॠटर

Plotter/ 절ॗटर

Scanner/ ㄋॖनर

Keyboard/ कॎ­बख़ड१

Correct Answer :­Plotter/ 절ॗटर 

2)

Question Stimulus :­

Computer

The process of verification for ‘Log­in­name’ and ‘Password’ is­/ लॗग­इन­नॕम तथॊ ‘पॊऺशड१’ कॕ
ऺॊपन कॎ ᨅो㼇यॊ ऻॖ­

Logging in/ लॗोगॠग इन

Certification/ ऺोट१ोफकॕषन

Authentication/ ऑथ७ोटकॕषन

Configuration/ कॗ瘂�ूगरॕषन

Correct Answer :­Authentication/ ऑथ७ोटकॕषन 

3)

Question Stimulus :­

Computer

Powerpoint is a­/पॊशरपॗइॠट ऻॖ एक­

Word Processor/ शड१ ᨅख़ऺॕऺर
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Spreadsheet Program/ ㈉ॖडषॎट ᨅख़瀅ॊम

Presentation Package/ ᨅॕज७टॕषन पॖकॕज

Database Management Package/ डॕटॊबॕऺ मॖनॕजम७ट पॖकॕज

Correct Answer :­Presentation Package/ ᨅॕज७टॕषन पॖकॕज 

4)

Question Stimulus :­

Computer

Which of the following is the physical path over which a message travels?/
ोन꤅ म७ ऺॕ कग़न ऺॊ भग़ोतक पथ ऻॖ, ोजऺऺॕ  ॠऺदॕष  ॠऺचॊ瘂रत (गोत) ऻख़तॊ ऻॖ?

Protocol/ ᨅख़टख़कॗल

Signal/ ोऺ瀅ल

Medium/ मॎोडयम

Pathway/ पॊथ­शॕ

Correct Answer :­Medium/ मॎोडयम 

5)

Question Stimulus :­

Computer

Which of the following refers to the physical arrangement of a network?/ ोन꤅ म७ ऺॕ कग़न­ऺॊ
नॕटशक१  कॎ भग़ोतक 䰈शथॊ कख़ दषॊ१तॊ ऻॖ?

Data flow/ डॕटॊ ᄋख़

Mode of operation/ मख़ड ऑफ ऑपरॕषन

Topology/ टख़पख़लॗजॎ

None of these/ इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Topology/ टख़पख़लॗजॎ 

6)
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Question Stimulus :­

Computer 

Protocol suite for the Current Internet is­/ शत१मॊन इॠटरनॕट कॕ ोलए ᨅख़टख़कॗल  ॐऺट ऻॖ­

TCP/IP/ टॎऺॎपॎ/आईपॎ

NCP/ एनऺॎपॎ

UNIX/ यॐोन鈊

ACM/ एऺॎएम

Correct Answer :­TCP/IP/ टॎऺॎपॎ/आईपॎ 

7)

Question Stimulus :­

Computer

______ layer is responsible for ‘process to process’ delivery?/ _____ लॕयर
‘ᨅख़ऺॕऺ टॐ  ᨅख़ऺॕऺ’ ोडोलशरॎ कॕ ोलए ोज紈ॕदॊर ऻख़तॎ ऻॖ?

Data link layer/ डॕटॊ ोलॠक लॕयर

Session layer/ ऺॕषन लॕयर

Transport layer/ ट३ ॊॠऺपख़ट१ लॕयर

Network layer/ नॕटशक१  लॕयर

Correct Answer :­Transport layer/ ट३ ॊॠऺपख़ट१ लॕयर 

8)

Question Stimulus :­

Computer

Logical design of database is known as­/ डॕटॊबॕऺ कॕ लॗोजकल ोडिॊइन कख़ कऻतॕ ऻ॰­

Database schema/ डॕटॊबॕऺ 䐈परॕखॊ

Database Instance/ डॕटॊबॕऺ इॠ�७ऺ

Database snapshot/ डॕटॊ ᄇॖपषॗट
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Database design/ डॕटॊबॕऺ ोडिॊइन

Correct Answer :­Database schema/ डॕटॊबॕऺ 䐈परॕखॊ 

9)

Question Stimulus :­

Computer

Which of the following can be taken as a primary key?/ ोन꤅ म७ ऺॕ कग़न­ऺॊ
ᨅॊथोमक कॏॠ जॎ कॕ 䐈प म७ ोलयॊ जॊ ऺकतॊ ऻॖ?

Name/नॊम

Id/आईडॎ

Street/ऺीक

Department/ोडपॊट१म७ट

Correct Answer :­Id/आईडॎ 

10)

Question Stimulus :­

Computer 

SDL stands for­/ एऺडॎएल कॊ पॐण१ 䐈प ऻॖ­

Storage discrete localisation/ �ख़रॕज ोड瘂ㄋट लख़कॕलॊइजॕषन

Storage definition localisation/ �ख़रॕज डॕोफनॕषन लख़कॕलॊइजॕषन

Storage definition language/ �ख़रॕज डॕोफनॕषन ल॰쐇ॕज

Storage discrete language/ �ख़रॕज ोड瘂ㄋट ल॰쐇ॕज

Correct Answer :­Storage definition language/ �ख़रॕज डॕोफनॕषन ल॰쐇ॕज 

Topic:­ General Science
1)

Question Stimulus :­

General Science
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What is PH value of human blood?/ मॊनश र촉 कॊ PH मॊन ोकतनॊ ऻख़तॊ ऻॖ?

7

7.2

7.4

7.8

Correct Answer :­

7.4 

2)

Question Stimulus :­

General Science

In a human body, the basic building block are­/ मॊनश षरॎर म७ मॏ꜊  ॠऺरचनॊᰈक इकॊई ऻॖ­

Muscles/ ᄇॊयॏ

Nerves/ न ७ऺ

Cells/ कख़ोषकॊय७

Bones/ ऻो訅यॊँ

Correct Answer :­Cells/ कख़ोषकॊय७ 

3)

Question Stimulus :­

General Science

Approximately how much time does a Sun ray take reaching Earth?/  ॐऺय१ ऺॕ प॑済ॎ तक ᨅकॊष
पᄅँचनॕ म७ ोकतनॊ ऺमय लगभग लगतॊ ऻॖ?

400 seconds/ 400 ऺॕकॠ ड

500 seconds/ 500 ऺॕकॠ ड

600 seconds/ 600 ऺॕकॠ ड

700 Seconds/ 700 ऺॕकॠ ड
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Correct Answer :­500 seconds/ 500 ऺॕकॠ ड 

4)

Question Stimulus :­

General Science

Which among the following molecule is rarely found in universe but abundant on earth?/
ोन꤅ म७ ऺॕ कग़न ऺॊ पदॊथ१ अॠत瘂र耆 म७ उप瘂थत नऻॎ ॠ ऻॖ, परĈॏ प॑済ॎ पर ᨅचॏर मॊ�ॊ म७ ऻॖ?

CO 2

O2

CH4

He

Correct Answer :­O2 

5)

Question Stimulus :­

General Science

Which of the following Kingdom represents bacteria?/ ोन꤅ म७ ऺॕ कग़न­ऺॊ जगत बॖ렉ॎ瘂रयॊ कॊ
ᨅोतोनोध딇 करतॊ ऻॖ?

Monera/ मख़नॕरॊ

Protista/ ᨅख़ोट�

Protozoa/ ᨅख़टख़जख़आ

Metazoa/मॕटॊजख़आ

Correct Answer :­Monera/ मख़नॕरॊ 

6)

Question Stimulus :­

General Science

Which among the following laws of Physics explain about the elliptical orbits of
planetary bodies?/ ोन꤅ म७ ऺॕ कग़न­ऺॊ भग़ोतक ोनयम 瀅ऻ­ोप）ख़ॠ कॕ परशलयॊकॊर क耆 कख़ ᨅदोष१त करतॊ ऻॖ?

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Newton's Law/ ഈॐटन कॊ ोनयम

Kepler's Law/ कॕपलर कॊ ोनयम

Snell's law/ ᄇॕल कॊ ोनयम

Coulomb's law/ कॏ ल ॠॗ興 कॊ ोनयम

Correct Answer :­Kepler's Law/ कॕपलर कॊ ोनयम 

7)

Question Stimulus :­

General Science

On which of the following the weight of a person will be minimum?/ ोन꤅ म७ ऺॕ कऻॊँ ोकऺॎ
䰈瘂촉 कॊ भॊर ഈॐनतम ऻख़गॊ?

Venus/ षॏ㼇

Mars/ मॠगल 瀅ऻ

Moon/ चॠህ्मॊ

Mercury/ पॊरॊ

Correct Answer :­Moon/ चॠህ्मॊ 

8)

Question Stimulus :­

General Science

The "Planetoids" are located between which of the following?/ अॠत瘂र耆 म७ “耆ॏህ瀅ऻ”, ोन꤅ म७ ऺॕ
ोकन कॕ बॎच उप瘂थत ऻख़तॕ ऻ॰?

Mars and Jupiter/ मॠगल और ब॑ऻ㈉ोत

Saturn & Jupiter/ षोन और ब॑ऻ㈉ोत

Mercury and Venus/ बॏध और षॏ㼇

Earth & Mars/ प॑済ॎ और मॠगल 瀅ऻ

Correct Answer :­Mars and Jupiter/ मॠगल और ब॑ऻ㈉ोत 
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9)

Question Stimulus :­

General Science

Deficiency of Tocopherol leads to sterility in males and females. The popular word for
Tocopherol is _____?/ टख़कख़ोफरॊल कॎ कमॎ नर श मॊदॊ म७ नपॏॠऺकतॊ उ꤇瘅 कर ऺकतॎ ऻॖ। टख़कख़ोफरॊल कख़
ऺॊमॊഈतॡ जॊनॊ जॊतॊ ऻॖ।

Vitamin B3/ ोशटॊोमन बॎ3

Vitamin K/ ोशटॊोमन कॕ

Vitamin E/ ोशटॊोमन ई

Vitamin C/ ोशटॊोमन ऺॎ

Correct Answer :­Vitamin E/ ोशटॊोमन ई 

10)

Question Stimulus :­

General Science

Water at 3.98o C has______./ जल 3.98o C कॊ पर _____ ऻख़तॊ ऻॖ।

minimum density/ ഈॐनतम घन딇

maximum density/ ऺशॊ१ोधक घन딇

maximum weight/ ऺशॊ१ोधक भॊर

None of these/ इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­maximum density/ ऺशॊ१ोधक घन딇 

11)

Question Stimulus :­

General Science

Which among the following is edible?/ ोन꤅ म७ ऺॕ कग़न­ऺॊ खॊनॕ यख़ᨈ ऻॖ?

Sodium Bicarbonate/ ऺख़ोडयम बॊइकॊब瘂नॕट

Sodium Carbonate/ ऺख़ोडयम कॊब瘂नॕट
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Sodium Dioxide/ ऺख़ोडयम डॊइऑ鈊ॊइड

Sodium Hydroxide/ ऺख़ोडयम ऻॊइड३ ॗ鈊ॊइड

Correct Answer :­Sodium Bicarbonate/ ऺख़ोडयम बॊइकॊब瘂नॕट 

12)

Question Stimulus :­

General Science

What does contain "Red Data Book”? / ” रॕड डॕटॊ बॏक” म७ ܊ॊ ऻख़तॊ ऻॖ?

Astrology/ खगख़ल षॊ鄉

Endangered wild plants, animals/ लॏ⤈ ऻख़नॕ शॊलॕ पॊदप श जॠतॏ कॎ  ॐऺचॎ

Communism/ ऺमॊजशॊदॎ

Endangered Forests/ लॏ⤈ᨅॊय जॠगल

Correct Answer :­Endangered wild plants, animals/ लॏ⤈ ऻख़नॕ शॊलॕ पॊदप श जॠतॏ कॎ  ॐऺचॎ 

13)

Question Stimulus :­

General Science

In context with Science and Technology development of China, what is Tianhe­I?/ ोश쀅ॊन श
ᨅग़嬆ख़ोगक कॕ ोशकॊऺ म७ चॎन कॊ ोतयॊनॕ­I ܊ॊ ऻॖ?

A satellite/ एक उप瀅ऻ

A space station/ एक अॠत瘂र耆 �ॕषन

A super computer/ एक  ॏऺपर क㸃ᰈॐटर

A proposed GPS/ एक ᨅ⌉ॊोशत जॎपॎएऺ

Correct Answer :­A super computer/ एक  ॏऺपर क㸃ᰈॐटर 

14)

Question Stimulus :­

General Science
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Which among the following can be measured with Anemometer?/ एनॎमख़मॎटर ऺॕ ोन꤅ म७ ऺॕ ܊ॊ
मॊपॊ जॊतॊ ऻॖ?

Water Velocity/ पॊनॎ कॊ शॕग

Wind Velocity/ पशन कॊ शॕग

Relative Humidity/ ऺॊपॕ耆 आህ१तॊ

Absolute Humidity/ ोनरपॕ耆 आህ१तॊ

Correct Answer :­Wind Velocity/ पशन कॊ शॕग 

15)

Question Stimulus :­

General Science

Which is the most abundant metal in the Earth's crust?/ प॑済ॎ कॎ ऺतऻ पर कग़न­
ऺॎ धॊतॏ ऺशॊ१ोधक पॊयॎ  जॊतॎ ऻॖ?

Silicon/ ोऺोलकन

Iron/ लख़ऻॊ

Aluminium/ ए䴉ॏोमोनयम

None of these/ इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Aluminium/ ए䴉ॏोमोनयम 

Topic:­ General Reasoning
1)

Question Stimulus :­

Logical Reasoning

In the following question, there is a certain relationship between two given words on
one side of :: and one word is given on another side of :: while another word is to be
found from the given alternative, having the same relation with this word as the words
of the given pair bear. Choose the correct alternative./नॎचॕ ोदए गए ᨅ餅 म७ ोच谇 (::) कॕ बॊॠई ओर दख़
पद ोदए गए ऻ॰। ोजनम७ आपऺ म७ एक ᨅकॊर ऺॕ कख़ई ऺ興﬇ ऻॖ, ठॎक इऺॎ ᨅकॊर कॊ ऺ興﬇ ोच谇 (::) कॕ दॊॠई और ोदए
गए पद तथॊ उऺकॕ नॎचॕ ोदए गए ोशकख़ॠ म७ ऺॕ ोकऺॎ एक पद कॕ बॎच म७ भॎ ऻॖ। शऻॎ ोशक कॊ पद उर ऻॖ। ऺऻॎ ोशक
कॊ चयन कर७।

Manipur : Imphal : : Rajasthan : ?/ मोणपॏर : इॠफॊल : : रॊजथॊन : ?
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Udaipur/ उदयपॏर

Ajmer/ अजमॕर

Jaipur/ जयपॏर

India/ भॊरत

Correct Answer :­Jaipur/ जयपॏर 

2)

Question Stimulus :­

Logical Reasoning

Pointing towards a boy, Sonam said, “He is the son of the only sister of my father”. How
is the boy related to sonam?/ एक लीकॕ कॎ और इषॊरॊ करतॕ ᄅए ऺख़नम नॕ कऻॊ, “शऻ मॕरॕ ोपतॊ कॎ इकलग़तॎ
बऻन कॊ बॕटॊ ऻॖ”। लीकॊ, ऺख़नम ऺॕ ोकऺ ᨅकॊर  ॠऺबॠोधत ऻॖ?

Nephew/ भतॎजॊ

Son/ पॏ�

Brother/ भॊई

Cousin/ कोिन

Correct Answer :­Cousin/ कोिन 

3)

Question Stimulus :­

Logical Reasoning

What is the angle traced by hour hand in 20 minutes?/ 20 ोमनट म७ घॠटॕ कॎ  ॏऺई
ोकतनॊ कख़ण बनॊएगॎ?

20o

10o

25o

75o
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Correct Answer :­10o 

4)

Question Stimulus :­

Logical Reasoning

If day before yesterday was Monday, when will be Saturday?/ योद बॎतॕ ᄅए कल कॕ पऻलॊ शॊलॊ
ोदन ऺख़मशॊर थॊ, तख़ षोनशॊर कब ऻख़गॊ?

Tomorrow/ आनॕ शॊलॊ कल

Day after tomorrow/ आनॕ शॊलॕ कल कॕ बॊद शॊलॊ ोदन

Two days after tomorrow/ आनॕ शॊलॕ कल कॕ दख़ ोदन बॊद

None of these/ इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Two days after tomorrow/ आनॕ शॊलॕ कल कॕ दख़ ोदन बॊद 

5)

Question Stimulus :­

Logical Reasoning  

From Parul’s home, she goes to her school which is 10 kms towards north. From there,
she turns right and goes 15 kms. After that she again turns right goes 5 kms and then
turns right and goes 15 kms. Now, how far is she from her starting point?/ पॊ젅ल अपनॕ घर ऺॕ
ㄋॐ ल जॊतॎ ऻॖ जख़ 10 ोकमॎ उर कॎ ओर ऻॖ। ोफर शऻ शऻॊँ ऺॕ दॊएॠ  मॏीतॎ ऻॖ और 15 ोकमॎ. जॊतॎ ऻॖ। इऺकॕ बॊद शऻ दॊएॠ
मॏीकर 5 ोकमॎ जॊतॎ ऻॖ और ोफर दॊएॠ  मॏीकर 15 ोकमॎ जॊतॎ ऻॖ। अब शऻ अपनॕ ᨅॊरॠ ोभक ोबॠदॏ ऺॕ ोकतनॎ दॐ र ऻॖ?

10 kms

25 kms

15 kms

5 kms

Correct Answer :­5 kms 

6)

Question Stimulus :­

Logical Reasoning
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In the following options, three of them are alike in a certain way and thus form a group.
Which one does not belong to that group?/ ोन꤅ ोशकख़ॠ म७ ऺॕ तॎन एक ोनो봅त तरॎकॕ ऺॕ ऺमॊन ऻ॰ और
इऺोलए एक ऺमॐऻ बनॊतॕ ऻ॰। कग़न­ऺॊ एक, इऺ ऺमॐऻ ऺॕ ऺ興瘂﬇त नऻॎ ॠ ऻॖ?

Black : 25

Orange : 36

Blue : 12

Magenta : 49

Correct Answer :­Blue : 12 

7)

Question Stimulus :­

Logical Reasoning  

In  the  given  arrangement, which  is  the  4th  letter/digit/symbol  to  the  right  of  the  14th
letter/digit/symbol from right end?/ दॎ गई 䰈शथॊ म७, दॊएँ छख़र ऺॕ 14श७ अ耆र/अॠक/ोच谇 कॕ दॊएँ ऺॕ 4थॊ
अ耆र/अॠक/ोच谇 कग़न ऺॊ ऻॖ?

4 7 I ? J 2 T @ # S 5 P Q % U & X C

#

S

7

@

Correct Answer :­# 

8)

Question Stimulus :­

Logical Reasoning

In a certain code language SHEEPS is written as TGFDQR , MOULDS is
written as NNVKER, then how will ORANGE be written in that code?/ ोकऺॎ
कॐ ट भॊहॊ म७, SHEEPS कख़ TGFDQR ोलखतॕ ऻ॰ , MOULDS  कख़ NNVKER ोलखतॕ ऻ॰, इऺ कॐ ट
म७ ORANGE कख़ कॖऺॕ ोलख७गॕ?

PQBMHD
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PSBOHF

PTDRML

QTCPIG

Correct Answer :­PQBMHD 

9)

Question Stimulus :­

Logical Reasoning

Which of the answer figures is exactly the mirror image of the given figure when the
mirror is held at PQ?/ कग़न ऺॎ उर आक॑ोत पॐण१ 䐈प ऺॕ दॎ गयॎ आक॑ोत कॊ दप१ण ᨅोतोब興 ऻॖ। जब दप१ण PQ
पर रखॊ गयॊ ऻॖ?

Question figure/ ᨅ餅 आक॑ोत

Answer figure/ उर आक॑ोत

(a)

(b)

(c)

(d)

Correct Answer :­(a) 

10)

Question Stimulus :­

Logical Reasoning
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What  will  come  in  place  of  the  question  mark  (?)  in  the  following  number  series?  /
ोन꤅ोल瘂खत  ॠऺ꜊ॊ ᨅणॊलॎ म७ ᨅ餅शॊचक ोच谇 (?) कॕ थॊन पर ܊ॊ आयॕगॊ?

1, 2, 5, 10, ?, 26, 37

15

12

17

24

Correct Answer :­17 

11)

Question Stimulus :­

Logical Reasoning

If the first and second letters of the word PREPARATIONS were inter­changed, also third
and fourth letter, fifth and sixth letter and so on, then which letter would be ninth from
left end?/ योद ष༈ PREPARATIONS म७ पऻलॕ और दॐ ऺरॕ अ耆र कख़ आपऺ म७ बदल ोलयॊ जॊए और इऺॎ तरऻ
तॎऺरॕ और चग़थॕ अ耆र कख़, पॊॠचशॕ और छटश७ अ耆र कख़ और इऺॎ तरऻ ऺॕ आगॕ, तख़ बॊएॠ  छख़र ऺॕ 9शॊँ अ耆र कग़न ऺॊ ऻख़गॊ ?

O

I

A

T

Correct Answer :­O 

12)

Question Stimulus :­

Logical Reasoning

Three positions of a dice is given. Which is the number opposite to 2?/ एक पॊॠऺॕ कॎ तॎन
瘂थोतयॊँ दॎ गयॎ ऻ॰। 2 कॕ ोशपरॎत कग़न ऺॊ अॠक ऻख़गॊ?
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1

5

6

4

Correct Answer :­5 

13)

Question Stimulus :­

Logical Reasoning

Seven children A, B, C, D, E, F, G are standing in a queue from top to
bottom. E is at fifth place. Only C is between A and B. G is at bottom. B is
three places after F. What is the position of D from top?/ ऺॊत ब䰈ॕ A, B, C, D,
E, F, G एक पॠ瘂촉 म७ ऊपर ऺॕ नॎचॕ  खीॕ ᄅए ऻ॰। E पॊॠचशॕ थॊन पर ऻॖ। कॕशल C, A और B कॕ बॎच म७
ऻॖ। G ऺबऺॕ नॎचॕ ऻॖ। B, F कॕ तॎन थॊन पॎछॕ ऻॖ। ऊपर ऺॕ D कॊ थॊन ܊ॊ ऻख़गॊ?

Fourth/ चग़थॊ

Sixth/ छटशॊँ

Second/ दॐ ऺरॊ

Last/ अॠोतम

Correct Answer :­Sixth/ छटशॊँ 

14)

Question Stimulus :­

Logical Reasoning

DIRECTIONS/ोनद८ष: In the question below are given two statements followed by two
conclusions numbered I and II. You have to take the given statements to be true even if
they seem to be at variance from commonly known facts. Read both the conclusions and
then decide which of the given conclusions logically follows from the given statements./
नॎचॕ ोदयॕ गए ᨅ餅 म७ दख़ कथन और उऺकॕ नॎचॕ दख़ ोन唊ह१ I और II ोदए गए ऻ॰। आपकख़ ोदए गए कथनख़ ॠ कख़ ऺ मॊननॊ
ऻॖ। भलॕ ऻॎ शॕ ऺश१쀅ॊत त눈ख़ॠ ऺॕ ोभ瘅त ᨅतॎत ऻख़। दख़नख़ ॠ ोन唊ह瘂 कख़ पोुए और ोफर तय कॎोजए ोक कग़न ऺॊ ोन唊ह१ ोदए
गए कथनख़ ॠ कॊ तक१   ॠऺगत 䐈प ऺॕ अनॏऺरण करतॊ ऻॖ।

 

Statements/कथन:
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All roses are flowers./ ऺभॎ गॏलॊब फॐ ल ऻ॰।

All flowers are trees./ ऺभॎ फॐ ल पॕी ऻ॰।

Conclusions/ोन唊ह१:

I. All trees are roses./ ऺभॎ पॕी गॏलॊब ऻ॰।

II. Some flowers are roses./ कॏ छ फॐ ल गॏलॊब ऻ॰।

If only Conclusion I follows/ योद कॕशल ोन唊ह१ I अनॏऺरण करतॊ ऻॖ

If only Conclusion II follows/ योद कॕशल ोन唊ह१ II अनॏऺरण करतॊ ऻॖ

If either Conclusion I or II follows/ योद यॊ तख़ ोन唊ह१ I यॊ II अनॏऺरण करतॊ ऻॖ

If both Conclusions I and II follow/ योद दख़नख़ ॠ ोन唊ह१ I और II अनॏऺरण करतॕ ऻ॰

Correct Answer :­If only Conclusion II follows/ योद कॕशल ोन唊ह१ II अनॏऺरण करतॊ ऻॖ 

15)

Question Stimulus :­

Logical Reasoning

Out of  the  five  figures  that  follow, you are  to  indicate which  figure will best  represent
the relationship amongst the three classes/ोन꤅ दॎ गई पॊॠच आक॑ोतयख़ ॠ म७ ऺॕ उऺ आक॑ोत कख़ चॏोनयॕ, जख़
इन तॎन शग瘂 कॕ बॎच ऺ興﬇ कख़ दषॊ१तॊ ऻॖ।

Colours, Yellow, Blue/ रॠग, पॎलॊ, नॎलॊ

(I)

(II)

(III)

(V)
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Correct Answer :­(III) 

Topic:­ General Maths
1)

Question Stimulus :­

Maths

In an examination, a student scores 1 marks for every correct answer and
loses 1/4 marks for every wrong answer. If he attempts in all 70 question
and secures 40 marks, then how many questions he attempted correctly?/
एक परॎ耆ॊ म७ एक छॊ� ᨅ戂ठयॕक ऺऻॎ उ戂ठतर कॕ ोलए 1 अॠक ᨅॊठत करतॊ ऻॖ और ᨅ戂ठयॕक गलत उ戂ठतर कॕ
ोलए 1/4 अॠक कम ोकयॕ जॊतॕ ऻ॰। योद उऺनॕ कॏ ल 70 ᨅ䰄ठन ऻल ोकए और 40 अॠक ᨅॊठत ोकयॕ, तख़
उऺनॕ ोकतनॕ ᨅ䰄ठन ऺऻॎ ऻल ोकयॕ?

42

46

52

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­46 

2)

Question Stimulus :­

Maths

Arrange the fractions  ,  ,  ,   in ascending order./ोभ瘅ख़ ॠ  ,  ,  ,    कख़ आरख़ऻॎ
㼇म म७ ठयश瘂थत कर७।

 <    <   < 

 <   <  < 

 <   <   < 

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­  <   <   <   
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3)

Question Stimulus :­

Maths 

In a forest which has only deer and humans. There are 80 heads and 230
legs. How many humans are there? /एक जॠगल म७ जऻॊँ कॕशल ोऻरण और मनॏ ठय ऻ॰। शऻॊँ
80 ोऺर और 230 पॖर ऻ॰। शऻॊँ ोकतनॕ मनॏ ठय ऻ॰?

40

25

35

45

Correct Answer :­45 

4)

Question Stimulus :­

Maths

A salesman bought toffees at 7 for a rupee. How many toffees for a rupee
he must sell to gain 40%?/ एक ठयॊपॊरॎ 1 젅पयॕ म७ 7 टॗफॎयॊँ खरॎदतॊ ऻॖ। शऻ 1 젅पयॕ म७
ोकतनॎ टॗफॎयॊँ बॕचॕ तॊोक  40% कॊ लॊभ ऻख़?

3

4

5

6

Correct Answer :­5 

5)

Question Stimulus :­

Maths 

A fruit seller had some bananas. He sold 20% bananas and still has 128
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bananas. How many bananas he had initially?/ एक फल ोश㼇ॕतॊ कॕ पॊऺ कॏ छ कॕलॕ
थॕ। उऺनॕ 20% कॕलॕ बॕच ोदए और ोफर भॎ उऺकॕ पॊऺ 128 कॕलॕ बचॕ ᄅए ऻ॰। उऺकॕ पॊऺ षॏ젅आत म७ ोकतनॕ
कॕलॕ थॕ?

156

160

176

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­160 

6)

Question Stimulus :­

Maths

At what rate of compound interest per annum will a sum of Rs.1200
become Rs.1323 in 2 years?/ ोकतनॕ ᨅोतषत शॊोह१क च㼇श॑瘂蔇 Ѓठयॊज कॎ दर ऺॕ 젅.1200, 2
शह१ म७ 젅.1323 ऻख़ जॊएँगॕ?

6%

4%

5%

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­5% 

7)

Question Stimulus :­

Maths

Rajesh and Shakshi are partners in a business. Rajesh invests Rs.35,000
for 8 months and Shakshi invests Rs.42,000 for 10 months. Out of a profit
of Rs.31,570 Rajesh’s share is (in Rupees)./रॊजॕष और ऺॊ耆ॎ एक 䰈शऺॊय म७
ऺॊझॕदॊर ऻ॰। रॊजॕष 8 मऻॎनॕ कॕ ोलए 젅.35000 ोनशॕष करतॊ ऻॖ और ऺॊ耆ॎ 10 मऻॎनॕ कॕ ोलए
젅.42,000 ोनशॕष करतॎ ऻॖ। कॏ ल लॊभ 젅.31,570 म७ रॊजॕष कॊ ोऻठऺ ॊ (젅पयॕ म७) ऻॖ:­

12,628
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14,060

16,162

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­12,628 

8)

Question Stimulus :­

Maths

A boy rides his bicycle 10 km at an average speed of 15 km/hr and again
travels 15 km at an average speed of 10 km/hr. His average speed (in
km/hr) for the Entire trip is:/एक लीकॊ 15 ोकमॎ/घॠटॕ कॎ गोत ऺॕ 10 ोकमॎ ऺॊइकल ऺॕ जॊतॊ ऻॖ
और पॏन: 10 ोकमॎ/घॠटॕ कॎ गोत ऺॕ 15 ोकमॎ जॊतॊ ऻॖ। पॐरॎ यॊ�ॊ कॕ ोलए उऺकॎ औऺत गोत (ोकमॎ/घॠटॕ म७)
ऻॖ:­

13

7

7

11

Correct Answer :­11  

9)

Question Stimulus :­

Maths

Pavan is twice efficient than Rakesh. If together they finish a piece of
work in 15 days. The number of days taken by Pavan alone to finish the
work is:/पशन कॎ कॊय१耆मतॊ रॊकॕष ऺॕ दख़गॏनॎ ऻॖ। योद दख़नख़ ॠ एक ऺॊथ ोकऺॎ कॊम कख़ 15 ोदन म७
कर ऺकतॕ ऻ॰ तख़ पशन कख़ अकॕलॕ कॊम ऺमॊठत करनॕ म७ लगॕ ोदनख़ ॠ कॎ  ॠऺ刅ठयॊ ऻॖ­

10

25
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22

27

Correct Answer :­22  

10)

Question Stimulus :­

Maths 

The average of 5 consecutive even number is 18. Find the largest
number./5 लगॊतॊर ऺम  ॠऺ刅ठयॊओॠ कॊ औऺत 18 ऻॖ। ऺबऺॕ बीॎ  ॠऺ刅ठयॊ 쀅ॊत कर७ ।

20

22

24

28

Correct Answer :­22 

11)

Question Stimulus :­

Maths

The speeds of three bus are in the ratio of 2:3:4 respectively .The ratio
between the time taken by them to travel the same distance is:/तॎन बऺख़ ॠ कॎ
गोत कॊ अनॏपॊत 㼇मष: 2:3:4 ऻॖ। ऺमॊन दॐ रॎ तय करनॕ म७ उनकॕ ህॊरॊ लगॕ ऺमय कॊ अनॏपॊत ऻॖ:

3:4:6

4:3:2

3:6:4

6:4:3

Correct Answer :­6:4:3 

12)
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Question Stimulus :­

Maths

In what ratio water must be mixed with milk costing Rs.24 per liter to
obtain a mixture worth of Rs.16 per liter?/젅.24 ᨅोत लॎटर कॕ दॐ ध कॕ ऺॊथ ोकऺ
अनॏपॊत म७ पॊनॎ ोमलॊयॊ जॊए तॊोक ोम餅ण कॊ मॐئىठय 젅.16 ᨅोत लॎटर ऻख़?

1:2

1:3

2:3

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­1:2 

13)

Question Stimulus :­

Maths

10 years ago, saloo was half of Rehan in age. If the ratio of their present
ages is 3:4, what is the present age of saloo (in years)?/10 शह१ पॐश१ षॊलॐ कॎ
आयॏ रॕऻॊन कॎ आयॏ कॎ आधॎ थॎ। योद उनकॎ शत१मॊन आयॏ कॊ अनॏपॊत 3:4 ऻॖ तख़ षॊलॐ कॎ शत१मॊन
आयॏ (शह१ म७) 鐄ठयॊ ऻॖ?

10

15

20

25

Correct Answer :­15 

14)

Question Stimulus :­

Maths 

The probability that a card drawn from a pack of 52 cards will be a king
is:/52 तॊष कॕ प戂ठतॕ कॎ ग訅ॎ ऺॕ ोनकॊलॕ गयॕ 1 प戂ठतॕ कॕ बॊदषॊऻ कॕ प戂ठतॕ ऻख़नॕ कॎ ᨅॊोयकतॊ ऻख़गॎ:
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1/52

1/26

1/13

1/9

Correct Answer :­1/13 

15)

Question Stimulus :­

Maths

Find the total surface area (in cm2) of a cone of height 24 cm and base diameter
14 cm./24 ऺॕमॎ ऊँचॊई और 14 ऺॕमॎ आधॊर कॕ ठयॊऺ शॊलॕ एक षॠकॏ  कॊ कॏ ल प॑ ठठ 耆ॕ�फल (शग१ ऺॕमॎ म७)
쀅ॊत कर७ ।

704

550

812

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­704 

Topic:­ Inorganic Chemistry
1)

Question Stimulus :­

The wavelength of spectral lines can be calculated by use of following equation?/
ोन㸃ठनोल瘂खत ऺमॎकरण म७ ऺॕ ठपॕ鐄ठट३ल रॕखॊ कॎ तरॠगदॖ刃ठय१ कॎ ऺऻॎ गणनॊ करनॕ म७ उपयख़ग ऻख़तॊ ऻॖ­

 =   = 109.679 

 =   = 109.679 

 =   = 109.679 

None of the above/उपरख़鐄ठत म७ ऺॕ कख़ई नऻॎ ॠ
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Correct Answer :­  =   = 109.679   

2)

Question Stimulus :­

The correct electronic configuration for chromium atom is­/㼇ख़ोमक परमॊणॏ कॊ ऺऻॎ इलॕ鐄ठट३ ॊोनक
ोश�ठयॊऺ ऻॖ­

4s2 3d4

4s2 3d5

4s1 3d5

4s3 3d5

Correct Answer :­4s1 3d5 

3)

Question Stimulus :­

How many orbitals are possible for n = 4 energy level?/n = 4 ऊजॊ१ ठतर कॕ ोलए ोकतनॕ क耆क
ॠऺभश ऻ॰?

15

16

4

2

Correct Answer :­16 

4)

Question Stimulus :­

Which of the following elements has maximum first ionisation potential?/ ोन㸃ठनोल瘂खत त戂ठशख़ ॠ म७
ऺॕ कग़न ऺशॊ१ोधक आयनन ोशभश रखतॊ ऻॖ?

Be

Mg
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Li

Na

Correct Answer :­Be 

5)

Question Stimulus :­

Which of the following has largest size?/ोन㸃ठनॊॠोकत म७ ऺॕ कग़न ऺबऺॕ बीॕ आकॊर कॊ ऻॖ?

Al

Al+

Al2+

Al3+

Correct Answer :­Al 

6)

Question Stimulus :­

When Be(OH)2 reacts with CH3COOH it gives a compound knows as basic beryllium
acetate is­/जब Be(OH)2 कॎ ो㼇यॊ CH3COOH कॕ ऺॊथ ऻख़तॎ ऻॖ तब एक यग़ोगक 耆ॊरॎय बॕ瘂रोलयम ऐऺॎटॕट बनतॊ
ऻॖ शऻ ऻॖ­

Be4O(CH3COO)6

Be2O[(CH3COO)6]

Be4O(CH3COO)4

Be2O(CH3coo)6

Correct Answer :­Be4O(CH3COO)6 

7)

Question Stimulus :­

Which of the following is strong reducing agent?/ोन㸃ठनोल瘂खत म७ ऺॕ कग़न ᨅबल अपचॊयक ऻॖ?

Na
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Cs

K

Li

Correct Answer :­Li 

8)

Question Stimulus :­

Which type of the compounds show high melting and boiling point? /ोकऺ ᨅकॊर कॕ यग़ोगक उꌂठच
गलनॊँक एशॠ 鐄ठशथनॊँक दषॊ१तॕ ऻ॰?

Electrovalent compound/ आयोनक यग़ोगक

Covalent compound /ऺऻ ॠऺयख़जक यग़ोगक

Co­ordinate covalent compound/उपऺऻ ॠऺयख़जक ऺऻ ॠऺयख़जक यग़ोगक

None of the above/उपरख़鐄ठत म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Electrovalent compound/ आयोनक यग़ोगक 

9)

Question Stimulus :­

In the periodic table along the periods increases with the atomic mass ; that is­/आशत१
ऺॊ瘂रणॎ कॕ आशत१ म७ परमॊणॏ भॊर कॕ ऺॊथ बीतॊ ऻॖ, शऻ ऻॖ­

Increase in property of electronegativity/ ोशद्यॏ त ऋणॊ戂ठमकतॊ कॊ बुनॊ

Increase in property of electro positivity / ोशद्यॏ त धॊनॊ戂ठमकतॊ कॊ बुनॊ

Increase in chemical activity/रॊऺॊयोनक ो㼇यॊ कॊ बुनॊ

Decrease in chemical activity/ रॊऺॊयोनक ो㼇यॊ कॊ घटनॊ

Correct Answer :­Increase in property of electronegativity/ ोशद्यॏ त ऋणॊ戂ठमकतॊ कॊ बुनॊ 

10)

Question Stimulus :­

Poly phasphozone gives a variety of industrially useful products with the help of­/ ोकऺ कॎ
ऺऻॊयतॊ ऺॕ पॗलॎ फॊ踋ॗजख़न ोशोभ�ठन ᨅकॊर कॕ औ嬆ख़ोगक उ戂ठपॊद दॕतॊ ऻॖ?
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Electrophilic addition /इलॕ렉३ ॗन ठनॕऻॎ यख़गॊ戂ठमक

Nucleophile substitution/ नॊोभक ठनॕऻॎ ᨅोतठथॊपन

Nucleophile addition / नॊोभक ठनॕऻॎ

Electrophilic substitution/ इलॕ렉३ ॗन ᨅोतठथॊपन

Correct Answer :­Nucleophile substitution/ नॊोभक ठनॕऻॎ ᨅोतठथॊपन 

11)

Question Stimulus :­

Which inorganic polymer is used as electrical conductor?/कग़न ऺॊ अकॊब१ोनक बᄅलक ोशद्यॏ त
चॊलक कॕ 䐈प मॕ उपयख़ग ऻख़तॊ ऻॖ?

Silicone/ ोऺोलकॊन

Phasphozine/फॊ踋ॗिॎन

Ferrocenylene/ फॕरख़ऺॊएोलन बᄅलक

Borazine/ बख़रॊिॎन

Correct Answer :­Ferrocenylene/ फॕरख़ऺॊएोलन बᄅलक 

12)

Question Stimulus :­

The metal ions required for nitrogen fixation by the enzyme nitrogenise are­/ए�ठजॊइम
नॊइट३ ख़जनॕऺ कॕ नॊइट३ ख़जन 瘂थरॎकरण ऻॕतॏ आश䰄ठयक धॊतॏ आयन ऻ॰­

Copper and Zinc/कॊपन और ोिॠक

Iron and Zinc/आयरन और ोिॠक

Iron and Molybdenum/ आयरन और मॗोलबॠडनम

Copper and Vanadium/ कॊपन और शॕनॕोडयम

Correct Answer :­Iron and Molybdenum/ आयरन और मॗोलबॠडनम 

13)

Question Stimulus :­

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


The compound which exhibits John­teller distortion is­/त戂ठश, जख़ जॊन­टॕलर ोशखॠडन दॕतॊ ऻॖ, शऻ ऻॖ­

[Mn (H2O)6]2
+

[Mn (H2O)6]3
+

[Cr(H2O)6]3
+

[Fe(CN)6]4
+

Correct Answer :­[Mn (H2O)6]3+ 

14)

Question Stimulus :­

The complex which obeys 18 electron rule is­/यग़ोगक जख़ 18 इलॕ鐄ठट३ ॊन ोनयम कॊ पॊलन करतॊ ऻॖ, शऻ ऻॖ­

Mi(CO)3 (PPh3)

Cr (Co)5

Cr (C5H5)2

Fe(Co)4

Correct Answer :­Mi(CO)3 (PPh3) 

15)

Question Stimulus :­

Oxalic acid is used as precipitating agent for the precipitation of­/ोकऺकॕ अश耆ॕपण कॕ ोलए
ऑ瘂ဋोलक अ㸃ठल अश耆ॕपण कॊरक कॕ 䐈प म७ ᨅयख़ग ऻख़तॊ ऻॖ?

Cu

Ca

Co

Al

Correct Answer :­Ca 

16)
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Question Stimulus :­

Due to the common ion effect the solubility of precipitate­/ऺमआयनॎ ᨅभॊश कॕ कॊरण अश耆ॕपण कॎ
ोशलॕयतॊ­

Increase/बुतॎ ऻॖ

Decrease/घटतॎ ऻॖ

First increase then decrease/पऻलॕ बुतॎ ऻॖ ोफर घटतॎ ऻॖ

Has no effect/कख़ई ᨅभॊश नऻॎ ॠ पीतॊ

Correct Answer :­Decrease/घटतॎ ऻॖ 

17)

Question Stimulus :­

RhCl3H2O + Ph3P → RhCl(PPh3)3 + Ph3Po           
         I        II                    III         IV        

Product (III) RhCl(PPh3)3 is known as­/ उ戂ठपॊद III RhCl(PPh3)3 कख़ कऻतॕ ऻ॰­

Zeise Sault/जॕऺॎ लशण

Wilkinson catalyst/ोश瘂�नऺन उ戂ठᨅॕरक

Ziglar Natta catalyst/ ोजगलर नॊटॊ उ戂ठᨅॕरक

Sidwick catalyst/ ोऺडोशक उ戂ठᨅॕरक

Correct Answer :­Wilkinson catalyst/ोश瘂�नऺन उ戂ठᨅॕरक 

18)

Question Stimulus :­

Among the following which one is not self­ionised?/ोन㸃ठनोल瘂खत म७ कग़न ऺॊ ठश: आयोनत नऻॎ ॠ ऻख़तॊ?

C2H5OH

Liquid SO2/ ህश SO2

Liquid NH3/ ህश NH3

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


H2O

Correct Answer :­C2H5OH 

19)

Question Stimulus :­

In liquid ammonia the cation is­/ህश अमख़ोनयॊ म७ धनॊयन ऻॖ­

 ion /  आयन

 ion/   आयन

 ion /    आयन

 ion /  आयन

Correct Answer :­  ion /  आयन 

20)

Question Stimulus :­

Non­polar solvent is­/अ뜅ॏशॎय ोशलॊयक ऻॖ­

H2O

C6H6

Hf

NH3

Correct Answer :­C6H6 

21)

Question Stimulus :­

pE – pH diagram is knows as­/ pE – pH ोच� कख़ कऻतॕ ऻ॰­

 – pH diagram/   – pH ोच�

Pourbaix diagram/पख़रबॕ鐄ठऺ  ोच�
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Predominance area/ ᨅधॊनतॊ 耆ॕ� ोच�

All of these/उपरख़鐄ठत ऺभॎ

Correct Answer :­All of these/उपरख़鐄ठत ऺभॎ 

22)

Question Stimulus :­

Reaction Mn →   in acidic medium occur­/अ㸃ठलॎय मॊ刃ठयम म७ अोभो㼇यॊ Mn → 
 ऻख़तॎ ऻॖ ­

Reduction by 3 electron/3 इलॕ렉३ ॗन कॕ अपचयन ህॊरॊ

Reduction by 5 electron/5 इलॕ렉३ ॗन कॕ अपचयन ህॊरॊ

Oxidation by 5 electron/5 इलॕ렉३ ॗन कॕ ऑ鐄ठऺ ॎकरण ህॊरॊ

Oxidation by 3 electron/3 इलॕ렉३ ॗन कॕ ऑ鐄ठऺ ॎकरण ህॊरॊ

Correct Answer :­Reduction by 5 electron/5 इलॕ렉३ ॗन कॕ अपचयन ህॊरॊ 

23)

Question Stimulus :­

Which has maximum hydration energy?/ोन㸃ठन म७ ऺॕ ोकऺकॎ जलॎय ऊजॊ१ ऺशॊ१ोधक ऻॖ?

Na+

K+

Li+

Cs+

Correct Answer :­Li+ 

24)

Question Stimulus :­

Among the following which relation is correct­/ोन㸃ठन म७ ऺॕ कग़न ऺॊ  ॠऺब�ठध ऺऻॎ ऻॖ­
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None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­  

25)

Question Stimulus :­

In the nitrogen fixation, how many ATP molecules are consumed per N2 reduced to
NH3?/ᨅोत N2 कॊ NH3 मॕ अपचयन ऻख़नॕ कॕ ोलए ोकतनॕ ATP अणॏ कॎ खपत नॊइट३ ख़जन 瘂थरॎकरण म७ ऻख़तॎ ऻॖ?

8

4

16

10

Correct Answer :­16 

26)

Question Stimulus :­

Which metal does not exhibit flame test?/कग़न ऺॎ धॊतॏ 脉लन परॎ耆ण नऻॎ ॠ दॕतॎ?

Calcium/ कॖ瘂ئىषयम

Radium/ रॕोडयम

Baryllium/बॕ瘂रोलयम

Barium/ बॕ瘂रयम

Correct Answer :­Baryllium/बॕ瘂रोलयम 

27)

Question Stimulus :­

Which alkali Hydroxide dissociate on heating?/गम१ करनॕ पर कग़न­ऺॕ 耆ॊरॎय ऻॊइड३ ॊ鐄ठऺ ॊइड टॐ ट जॊतॕ ऻ॰?
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NaOH

KOH

LiOH

RbOH

Correct Answer :­LiOH 

28)

Question Stimulus :­

[BeF4]2­ ion formed by­/[BeF4]2­  आयन बनतॊ ऻॖ­

Sp hybridization/ Sp  ॠऺकरण ህॊरॊ

Sp2 hybridization/ Sp2  ॠऺकरण ህॊरॊ

Sp3 hybridization/ Sp3  ॠऺकरण ህॊरॊ

dSp2 hybridization/ dSp2  ॠऺकरण ህॊरॊ

Correct Answer :­Sp3 hybridization/ Sp3  ॠऺकरण ህॊरॊ 

29)

Question Stimulus :­

The geometry of [BeF3]­ complex ion is­/[BeF3]­ आयन म७ 樄ठयॊोमोत ऻख़तॎ ऻॖ­

Square planer/शग१ ऺमतलॎय

Trigonal hipyramidal/ो�कख़णॎय ोህोपरॊोमडॎय

Planer trigonal/ो�कख़णॎय ऺमतलॎय

Tetrahedra/ अ ठटफलकॎय

Correct Answer :­Planer trigonal/ो�कख़णॎय ऺमतलॎय 

30)

Question Stimulus :­

Among the following which one is water soluble?/ ोन㸃ठन म७ कग़न­ऺॊ एक पॊनॎ म७ ोशलय ऻॖ?
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CS2

CCl4

CHCl3

C2H5OH

Correct Answer :­C2H5OH 

31)

Question Stimulus :­

pH value of water at 298 K will be­/298 K  पर पॊनॎ कॕ pH कॊ मॊन ऻख़गॊ­

Zero/षॐ�ठय

Greater than 7/7 ऺॕ अोधक

7

Less than 7/7 ऺॕ कम

Correct Answer :­7 

32)

Question Stimulus :­

Helium is preferred to hydrogen for filling in balloons because­/गॏЃठबॊरॕ भरनॕ कॕ ोलए ऻॊइड३ ख़जन कॎ
तॏलनॊ म७ ऻॎोलयम कख़ ᨅॊोयकतॊ दॎ जॊतॎ ऻॖ 鐄ठयख़ ॠोक­

It is lighter than hydrogen/यऻ ऻॊइड३ ख़जन कॎ तॏलनॊ मॕ ऻئىठकॎ ऻख़तॎ ऻॖ

It is found of great distance from sun/यठऻ  ॐऺय१ ऺॕ अोधक दॐ रॎ पर ऻॖ

It does not effuse through the walls of balloon/यऻ गॏЃठबॊरॕ कॎ दॎशॊर ऺॕ आऺॊनॎ ऺॕ नऻॎ ॠ बऻतॎ ऻॖ

It is not combustible/यठऻ 樄ठशलनषॎल नऻॎ ॠ ऻख़तॎ ऻॖ

Correct Answer :­It is not combustible/यठऻ 樄ठशलनषॎल नऻॎ ॠ ऻख़तॎ ऻॖ 

33)

Question Stimulus :­
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The energy released in the formation of a nucleus from its constituent nucleons is
called­/अपनॕ ऻॎ अशयश �ठयॐ瘂댊यॊन ऺॕ �ठयॐ瘂댊यऺ कॕ बननॕ म७ जख़ ऊजॊ१ उ鸈ोज१त ऻख़तॎ ऻॖ, उऺॕ कऻतॕ ऻ॰­

Binding energy/बॠधन ऊजॊ१

Stabilization energy/ठथॊयॎकरण ऊजॊ१

Nuclear energy/नॊोभकॎय ऊजॊ१

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Binding energy/बॠधन ऊजॊ१ 

34)

Question Stimulus :­

Which of the set is possible from the following quantum numbers?/ोन㸃ठनोल瘂खत 鐄ठशॊॠटम  ॠऺ刅ठयॊ ऺॕ
कग़न­ऺॊ ऺमॐऻ  ॠऺभश ऻॖ?

n = 2, l = 0, m = ­1

n = 2, l = 2, m = 0

n = 2, l = 0, m = +1

n = 2, l = 1, m = 0

Correct Answer :­n = 2, l = 1, m = 0 

35)

Question Stimulus :­

Who invented neutron?/ ഈॐट३ ॗन कॎ खख़ज ोकऺ नॕ कॎ?

Rutherford/ रदरफख़ड१

Newton/�ठयॐटन

Gold stein/गख़ئىठड 瘂�न

Chadwick/कॖडोशक

Correct Answer :­Chadwick/कॖडोशक 

36)
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Question Stimulus :­

B2H6 + 2LiH → A, where­/अोभो㼇यॊ B2H6 + 2LiH → A  ऻॖ जऻॊँ­

A = BH3

A = LiBH4

A = B2H8

A = LiH

Correct Answer :­A = LiBH4 

37)

Question Stimulus :­

Inorganic benzene named as­/अकॊब१ोनक ब॰जॎन कॕ नॊम ऺॕ जॊनॊ जॊतॊ ऻॖ­

Borane/बख़रॕन

Borazole/बख़रॊजॗल

Digarane/डॊइगॕरॕन

Cobonil borane/कॊब瘂ोनल बख़रॕन

Correct Answer :­Borazole/बख़रॊजॗल 

38)

Question Stimulus :­

Which of the following has three lone pair?/ोन㸃ठन मॕ ऺॕ ोकऺम७ तॎन एकॊकॎ इलॕ렉३ ॗन यॏ괂ठम ऻ॰?

XeF2

ClF3

SF4

PF5

Correct Answer :­XeF2 
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39)

Question Stimulus :­

Molecule PF5 has­/ PF5 अणॏ­

SP3 hybridisation & TBP/ SP3  ॠऺक瘂रत और TBP

SP3d hybridisation & TBP/ SP3d  ॠऺक瘂रत और TBP

SP3d2, TBP

d2SP3, TBP

Correct Answer :­SP3d hybridisation & TBP/ SP3d  ॠऺक瘂रत और TBP 

40)

Question Stimulus :­

Relation between overall stability constant and stepwise stability constant is­/ऺ㸃ठपॐण१
ठथॊोय戂ठश 瘂थरॊॠक और 㼇मब蔇 ठथॊोय戂ठश 瘂थरॊॠक कॕ म刃ठय ोन㸃ठन  ॠऺब�ठध ऻॖ­

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­  

41)

Question Stimulus :­

The order of inertness of low spin complex in the following is­/ोन㸃ठन घॐण१न  ॠऺकॏ लख़ ॠ म७ अो㼇यतॊ कॊ
ऺऻॎ 㼇म ऻॖ­

d6 > d3 > d4 > d5

d3 > d4 > d5 > d6
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d6 > d5 > d4 > d3

d6 = d5 > d4 > d3

Correct Answer :­d6 > d3 > d4 > d5 

42)

Question Stimulus :­

Which of the metal ion from inner­orbital labile octahedral complex­/ोन㸃ठन म७ ऺॕ आॠत瘂रक
आरोबटल लॕबॊइल अ ठटफलकॎय यग़ोगक बनॊनॕ शॊलॎ धॊतॏए ऻ॰­

Ti3F

Ti2F

Both the above/उपयॏ१촉 दख़नख़ ॠ

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ 

43)

Question Stimulus :­

The correct order of lability is­/ लॕबॊइोलटॎ कॊ ऺऻॎ 㼇म ऻॖ­

[Ca(H2O)6]2+ < [Sr(H2O)6]2+ < [Mg(H2O)6]2+

[Mg(H2O)6]2+ < [Ca(H2O)6]2+ < [Sr(H2O)6]2+

[Sr(H2O)6]2+ < [Ca(H2O)6]2+ < [Mg(H2O)6]2+

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­[Mg(H2O)6]2+ < [Ca(H2O)6]2+ < [Sr(H2O)6]2+ 

44)

Question Stimulus :­

The correct order of rate of water exchange is­/जल कॕ अणॏओॠ कॕ ोशोनमय कॎ दर कॊ ऺऻॎ 㼇म ऻॖ­

[Na(H2O)n]+ > [Mg(H2O)n]2+ > [Al(H2O)n]3+
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[Al(H2O)n]3+ > [Mg(H2O)n]2+ > [NA(H2O)n]+

[Na(H2O)n]2+ > [Al(H2O)n]3+ > [Mg(H2O)6n]2+

[Mg(H2O)n]2+ > [Na(H2O)n]+ > [Al(H2O)6n]3+

Correct Answer :­[Na(H2O)n]+ > [Mg(H2O)n]2+ > [Al(H2O)n]3+ 

45)

Question Stimulus :­

The correct order of natural order of stability of ions­/ठथॊोयत कॕ natural order (Irving
William order) कॊ ऺऻॎ 㼇म ऻॖ­

Mn2+ < Fe2+ < Co2+ < Ni2+ < Cu2+ < Zn2+

Mn2+ < Fe2+ < Co2+ < Ni2+ < Cu2+ > Zn2+

Zn2+ < Cu2+ < Ni2+ < Co2+ < Fe2+ < Mn2+

Mn2+ < Fe2+ > Co2+ < Ni2+ < Cu2+ < Zn2+

Correct Answer :­Mn2+ < Fe2+ < Co2+ < Ni2+ < Cu2+ > Zn2+ 

46)

Question Stimulus :­

The correct order of trans effect of same ligand is­/कॏ छ ोलगॕ⤄ठडख़ ॠ कॊ ोशहम ᨅभॊश कॊ ऺऻॎ 㼇म ऻॖ­

 > PR3 >   > 

 >     > PR3 > 

 >   >    > PR3

PR3 >   >    > 

Correct Answer :­  > PR3 >   >   

47)

Question Stimulus :­

Which of the following is correct order of Polaris ability?/ोन㸃ठन म७ ऺॕ 뜅ॏशणतॊ कॊ ऺऻॎ 㼇म कग़न­ऺॊ
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ऻॖ?

 <    <  

 <    <  

  <    <   

  >   < 

Correct Answer :­  <    <    

48)

Question Stimulus :­

Electronic configuration of 78Pt is­/78Pt कॊ इलॕ鐄ठट३ ॊोनक ोश�ठयॊऺ ऻॖ­

[Xe] 4F14 5d9 6s1

[Xe] 4F14 5d8 6s2

[Xe] 4F14 5d10 6s0

[Xe] 4F13 5d10 6s1

Correct Answer :­[Xe] 4F14 5d9 6s1 

49)

Question Stimulus :­

Oxidation state of 27CO is ­/27CO कॎ ऑ鐄ठऺ ॎकरण कॎ अशठथॊ ऻॖ­

+2

+3

+4

All the above/उपयॏ१촉 ऺभॎ

Correct Answer :­All the above/उपयॏ१촉 ऺभॎ 

50)
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Question Stimulus :­

No. of unpaired electron in   and   is­/   और   म७ अयॏ瘂漈त इलॕ렉३ ॗनख़ ॠ कॎ
ॠऺ刅ठयॊ ऻॖ­

1, 5

1, 4

2, 3

1, 0  

Correct Answer :­1, 5 

51)

Question Stimulus :­

The Shape and hybridization of XeF4 is­/ XeF4 कॎ आक॑ोत और  ॠऺकरण ऻॖ­

Square planar, SP3d2/शग१ ऺमतलॎय, SP3d2

Square planar, SP3d3/ शग१ ऺमतलॎय, SP3d3

Trigonal planar, SP2/ ो�कख़णॎय ऺमतलॎय, SP2

Pentagonal bipyramidal, SP3d3/पॠचभॏजॎय ोህोपरॊोमडॎय, SP3d3

Correct Answer :­Square planar, SP3d2/शग१ ऺमतलॎय, SP3d2 

52)

Question Stimulus :­

Which of the following is the correct order of dipole moment value­/ोन㸃ठन म७ ऺॕ ोህ뜅ॏश आघॐण१ कॊ
ऺऻॎ 㼇म चॏोनए­

O­derivative < M­ derivative < P­ derivative / O­ᨅोतठथॊपॎ < M­ ᨅोतठथॊपॎ< P­ ᨅोतठथॊपॎ

O­derivative < P­ derivative < M­ derivative / O­ᨅोतठथॊपॎ< P­ ᨅोतठथॊपॎ< M­ ᨅोतठथॊपॎ

P­derivative < M­ derivative < O­ derivative / P­ᨅोतठथॊपॎ< M­ ᨅोतठथॊपॎ< O­ ᨅोतठथॊपॎ

M­derivative < O­ derivative < P­ derivative / M­ᨅोतठथॊपॎ< O­ ᨅोतठथॊपॎ< P­ ᨅोतठथॊपॎ

Correct Answer :­P­derivative < M­ derivative < O­ derivative / P­ᨅोतठथॊपॎ< M­
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ᨅोतठथॊपॎ< O­ ᨅोतठथॊपॎ 

53)

Question Stimulus :­

The correct order of bond angle is­/बॠध कख़ण कॊ ऺऻॎ 㼇म ऻॖ­

PI3 > PBR3 > PCl3

PCl3 > PBR3 > PI3

PI3 > PBR3 > Pcl3

PBR3 > PCl3 > PI3

Correct Answer :­PI3 > PBR3 > PCl3 

54)

Question Stimulus :­

The geometry of XeOF4 is­/ XeOF4 कॎ आक॑ोत ऻॖ­

Square planar/शग१ ऺमतलॎय

Square pyramidal/शग१ ऺमतलॎय

Octahedral/अ ठटफलकॎय

Bent shape/मॏीॎ आक॑ोत

Correct Answer :­Square pyramidal/शग१ ऺमतलॎय 

55)

Question Stimulus :­

The correct order of Covalent character is­/ोन㸃ठन म७ ऺॕ ऺऻऺयख़ ॠजक गॏण कॊ ऺऻॎ 㼇म ऻॖ­

CaI2 > CaBr2 > CaCl2 > CaF2

CaI2 > CaCl2 > CaBr2 > CaF2

CaF2 > CaCl2 > CaBr2 > CaI2
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CaF2 > CaBr2 > CaCl2 > CaI2

Correct Answer :­CaI2 > CaBr2 > CaCl2 > CaF2 

56)

Question Stimulus :­

Which of the following have zero electron affinity?/ोन꤅ म७ ऺॕ ोकऺकॎ इलॕ렉३ ॗन बॠधॏतॊ षॐ�ठय ऻॖ?

Be, Mg, He

Al, Li, Cl

Both the above/उपयॏ१촉 दख़नख़ ॠ

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Be, Mg, He 

57)

Question Stimulus :­

For which geometry of ionic crystal, limiting value of radius ratio is between 0.014 to
0.732?/आयोनक ो㼇ठटल कॎ ोकऺ आक॑ोत कॕ ोलए ो�樄ठयॊ अनॏपॊत कॊ मॊन 0.014 ऺॕ 0.732 कॕ बॎच ऻख़तॊ ऻॖ?

Square planar/शग१ ऺमतलॎय

Linear/रॕखॎय

Both the above/उपयॏ१촉 दख़नख़ ॠ

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Square planar/शग१ ऺमतलॎय 

58)

Question Stimulus :­

In CsCl and Nacl, coordination numbers are­/  CsCl और NaCl, म७ ऺमॠशयन  ॠऺ刅ठयॊएँ
ऻ॰­

8 : 8, 4 : 4

8 : 8, 6 : 6
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6 : 6, 8 : 8

4 : 4, 8 : 8

Correct Answer :­8 : 8, 6 : 6 

59)

Question Stimulus :­

Metalloids are/मॕटॕलॗइडऺ ऻ॰­

Ge, AS

Bi, Pb

Both the above/उपयॏ१촉 दख़नख़ ॠ

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Ge, AS 

60)

Question Stimulus :­

The correct square of densities is­/घन戂ठशख़ ॠ कॊ ऺऻॎ 㼇म ऻॖ­

Na > K > Rb > Cs

Cs > Rb > Na > K

Cs > Rb > k > Na

Na > Rb > K > Cs

Correct Answer :­Cs > Rb > Na > K 

61)

Question Stimulus :­

Which are the strong acid?/ᨅबल अ㸃ठल ऻ॰­

SO2

Cl2O7
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Al2O3

SO2 and Cl2O7 Both/ SO2 और Cl2O7 दख़नख़ ॠ

Correct Answer :­SO2 and Cl2O7 Both/ SO2 और Cl2O7 दख़नख़ ॠ 

62)

Question Stimulus :­

Which of the following is correct order of acid strength?/ोन㸃ठन म७ ऺॕ अ㸃ठलॎय 耆मतॊ कॊ ऺऻॎ 㼇म
कग़न­ऺॊ ऻॖ?

(CH3)3B < BH3 < BF3

(CH3)3B < BH3 < BH3

BH3 < BF3 < (CH3)3 B    

BH3  < (CH3)3B < BF3

Correct Answer :­(CH3)3B < BH3 < BF3 

63)

Question Stimulus :­

Which of the following species may be Lewis base?/ोन㸃ठन म७ ऺॕ लॏईऺ 耆ॊर ऻॖ­

Positive ions/धनॊ戂ठमक आयन

Negative ions/ऋणॊ戂ठमक आयन

Organic molecule with sigma bonds/कॊब१ोनक अणॏ ोऺ漈ॊ बॠध कॕ ऺॊथ

Positive & Negative ions/ धनॊ戂ठमक और ऋणॊ戂ठमक आयन

Correct Answer :­Negative ions/ऋणॊ戂ठमक आयन 

64)

Question Stimulus :­

The Conjugate base of H3O+ is­/ H3O+ कॊ  ॠऺयॏ괂ठमॎ 耆ॊर ऻॖ­

H2O2
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H2O

OH­

H+

Correct Answer :­H2O 

65)

Question Stimulus :­

Relative acidity increase as/अ㸃ठलॎयतॊ कॊ बुतॊ 㼇म ऻॖ­

H2O < H2S < H2Se < H2Te

CHCl > NH3 > H2O < HF

CHCl < NH3 < H2O < HF

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­H2O < H2S < H2Se < H2Te 

66)

Question Stimulus :­

Correct formula is­/ऺऻॎ  ॐऺ� ऻॖ­

pKa = log Ka

pKa = 1 + log Ka

pKa = ­log Ka

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­pKa = ­log Ka 

67)

Question Stimulus :­

Which of the following is an Archano Borane­/ ोन㸃ठन म७ ऺॕ आक८ नख़ बख़रॕन ऻॖ ­

B2H6
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B6H12

B5H9

[B6H6]2­

Correct Answer :­B6H12 

68)

Question Stimulus :­

Octet is complete in­/अ ठटकपॐण१ ऻॖ­

Carbon in Ethane/ईथॕन कॕ कॊब१न कॊ

Nobel gases/अो㼇य गॖऺख़ ॠ कॊ

Both the above/उपयॏ१촉 दख़नख़ ॠ

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Both the above/उपयॏ१촉 दख़नख़ ॠ 

69)

Question Stimulus :­

In the reaction Na2B4O7 .10H2O   NaBO2 + A + H2O / अोभो㼇यॊ Na2B4O7
.10H2O   NaBO2 + A + H2O म७­

A = Na3BO3

A = Na3(BO2)2

A = B2O3

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­A = B2O3 

70)

Question Stimulus :­

Chemical formula of red liquor is­/ रॕड ोलकर कॊ रॊऺॊयोनक  ॐऺ� ऻॖ­
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Al2(CO3)BO3

(CH3COO)3Al

Al2O3

Al(OH)3

Correct Answer :­(CH3COO)3Al 

71)

Question Stimulus :­

C2H5ONa + CS2   A, where A is/ अोभो㼇यॊ C2H5ONa + CS2   A , म७
A ऻॖ­

C2H5 ­ C2H5

C2H5OCS2Na

(C2H5)2 HCSNa

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­C2H5OCS2Na 

72)

Question Stimulus :­

The correct sequence of melting point of Silanes is­/ोन㸃ठन ोऺलॕ�ठऺ  कॕ गलनॊ◌ॠ क कॊ ऺऻॎ 㼇म ऻॖ­

Si3H8 > Si4H10 > SiH4 > Si2H6

Si4H10 > Si3H8 > Si2H6 > SiH4

Si3H4 > Si2H6 > Si3H8 > Si4H10

SiH4 > Si3H8 > Si2H6 > Si4H10

Correct Answer :­Si4H10 > Si3H8 > Si2H6 > SiH4 

73)

Question Stimulus :­
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Question Stimulus :­

XeF2 reacts with 2NO and gives­/ XeF2, 2NO कॕ ऺॊथ अोभो㼇यॊ करकॕ दॕतॊ ऻॖ­

N2O4 and Xe

2NOF and Xe

NOXe and F

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­2NOF and Xe 

74)

Question Stimulus :­

Oxidation state and formula of Nitroxylic acid is­/नॊइट३ ख़鐄ठऺ ोलक अ㸃ठल कॕ ऑ鐄ठऺ ॎकरण कॊ  ॐऺ� ऻॖ­

+2, H4N2 O4

+3, H4N2 O4

+3, HNO2

+5, HNO4

Correct Answer :­+2, H4N2 O4 

75)

Question Stimulus :­

Phosphorous acid is­/फॗठफख़रऺ अ㸃ठल ऻॖ­

Tetra basic acid/टॕट३ ॊबॕोऺक अ㸃ठल

Dibasic acid and strong reducing agent/डॊईबॕोऺक अ㸃ठल और ᨅबल अपचॊयक

Weak mono basic/दॏब१ल मख़नख़बॕोऺक

Tribasic/ट३ ॊइबॕोऺक

Correct Answer :­Dibasic acid and strong reducing agent/डॊईबॕोऺक अ㸃ठल और ᨅबल अपचॊयक 

76)
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Question Stimulus :­

Which statement is false­/ोन㸃ठन म७ ऺॕ कग़न ऺॊ कथन गलत ऻॖ­

H3PO3 gives white PPT with BaCl2/H3PO3, BaCl2 कॕ ऺॊथ ऺफॕद अश耆ॕप दॕतॊ ऻॖ

H3PO3 gives no PPT with magnesia mixture/ H3PO3 मॖगनॎोषयॊ ोम餅ण कॕ ऺॊथ कख़ई अश耆ॕप नऻॎ ॠ
दॕतॊ

H3PO3 gives no reaction with acidified KMnO4/ H3PO3, KMnO4 कॕ ऺॊथ कख़ई अोभो㼇यॊ नऻॎ ॠ
दॕतॎ ऻॖ

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­H3PO3 gives white PPT with BaCl2/H3PO3, BaCl2 कॕ ऺॊथ ऺफॕद अश耆ॕप
दॕतॊ ऻॖ 

77)

Question Stimulus :­

Which of the following is correct reducing agent sequence­/ोन꤅ म७ ऺॕ अपचॊयक कॊ ऺऻॎ 㼇म ऻॖ­

HI < HBr < HCl < HF

HCl < HF < HBr < HI

HF < HCl < HBr < HI

HBr < HCl < HF < HI

Correct Answer :­HF < HCl < HBr < HI 

78)

Question Stimulus :­

The electronic configuration of 46Pd is­/46Pd कॊ इलॕ鐄ठट३ ॊोनक ोश�ठयॊऺ ऻॖ­

[Kr] 4d95S1

[Kr] 4d105S0

[Kr] 4d85S2

[Kr] 4d95S0
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Correct Answer :­[Kr] 4d105S0 

79)

Question Stimulus :­

Maximum oxidation state of Os is­/Os कॎ अोधकतम ऑ鐄ठऺ ॎकरण  ॠऺ刅ठयॊ ऻॖ­

+7

+8

+6

+5

Correct Answer :­+8 

80)

Question Stimulus :­

[Ni(CN)4]2­ is ­/[Ni(CN)4]2­ ऻॖ­

Piamagnetic, square planar/ᨅोतचॏ㸃ठबकॎय, शग१ ऺमतलॎय

Paramagnetic, square planar/ अनॏचॏ㸃ठबकॎय, शग१ ऺमतलॎय

Diamagnetic tetrahedral/ᨅोतचॏ㸃ठबकॎय, चतॏ ठफलकॎय

Paramagnetic, tetrahedral/ अनॏचॏ㸃ठबकॎय, चतॏ ठफलकॎय

Correct Answer :­Piamagnetic, square planar/ᨅोतचॏ㸃ठबकॎय, शग१ ऺमतलॎय 

81)

Question Stimulus :­

[CO(CH3)6] Cl3 is ­/[CO(CH3)6] Cl3 ऻॖ­

Low spin complex/ोन㸃ठन घॐण१न  ॠऺकॏ ल

High spin complex/उꌂठच घॐण१न  ॠऺकॏ ल

Diamagnetic/ᨅोतचॏॠबकॎय

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ
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Correct Answer :­Low spin complex/ोन㸃ठन घॐण१न  ॠऺकॏ ल 

82)

Question Stimulus :­

Oxidation sate of 61Pm­/ 61Pm कॎ ऑ鐄ठऺ ॎकरण  ॠऺ刅ठयॊ ऻॖ ­

+3

+4

+5

+6

Correct Answer :­+3 

83)

Question Stimulus :­

Element after atomic number 92 are called/­परमॊणॏ  ॠऺ刅ठयॊ 92 कॕ बॊद कॕ त戂ठश कऻलॊतॕ ऻ॰­

Actinide/ए瘂렉नॊइट

Inner transition elements/आॠत瘂रक  ॠऺ㼇मण त戂ठश

d­block elements/ d­block त戂ठश

Transuranium Elements/ट३ ॊॠऺयॐरॕोनयम त戂ठश

Correct Answer :­Transuranium Elements/ट३ ॊॠऺयॐरॕोनयम त戂ठश 

84)

Question Stimulus :­

93NP239 + on1   A + B where,/ 93NP239 + on1   A + B जऻॗ­

A =  92U239 B = ­1e0

A =  92U238 B = 0e1

A =  92U238 B = ­1e0
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None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­A =  92U239 B = ­1e0 

85)

Question Stimulus :­

Which ions are colourless­/रॠगऻॎन आयन ऻॖ­

Th4+

Both the above/उपयॏ१촉 दख़नख़ ॠ

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Both the above/उपयॏ१촉 दख़नख़ ॠ 

86)

Question Stimulus :­

Lanthanide and actinides resemble in­/लॕ�ठथॕनॊइड और एोစनॊइड ऺमॊन ऻ॰­

Ionization energy/आयनन ऊजॊ१ म७

Oxidation state/ऑ鐄ठऺ ॎकरण अशठथॊ म७

Electronic configuration/इलॕ鐄ठट३ ॊोनक ोश�ठयॊऺ म७

Formation of complexes/ ॠऺकॏ ल कॕ बननॕ म७

Correct Answer :­Oxidation state/ऑ鐄ठऺ ॎकरण अशठथॊ म७ 

87)

Question Stimulus :­

Which of the following ion is paramagnetic­/ोन㸃ठन म७ ऺॕ कग़न­ऺॊ आयन अनॏचॏॠबकॎय ऻॖ­
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Correct Answer :­  

88)

Question Stimulus :­

Additional electron in 64Gd enters in­/64Gd म७ अोत瘂र鐄ठत इलॕ렉३ ॗन ᨅशॕष करतॊ ऻॖ­

4F­orbital/4F­ऑोश१टल म७

5P­orbital/5P­ऑोश१टल म७

6S­ Orbital/6S­ ऑोश१टल म७

5d­orbital/5d­ ऑोश१टल म७

Correct Answer :­5d­orbital/5d­ ऑोश१टल म७ 

89)

Question Stimulus :­

The correct C­O bond order of following metal carbonyl is­/ोन㸃ठन धॊतॏ कॊब瘂ोनलख़ ॠ म७ C­O बॠध 㼇म कॊ ऺऻॎ 㼇म ऻॖ­

Ni(CO)4 > [CO(CO)4]
­ [Fe(CO)4]2­

[Fe(CO)4]2­ > [CO(CO)4]
­ > Ni(CO)4

[Fe(CO)4]2­ > Ni(CO)4 > [CO(CO)4]
­

[CO(CO)4]
­ > Ni(CO)4 > [Fe(CO)4]2­

Correct Answer :­Ni(CO)4 > [CO(CO)4]­ [Fe(CO)4]2­ 

90)

Question Stimulus :­

Which of the following from natural mononuclear carbonyl­/ोन㸃ठन म७ ऺॕ उदॊऺॎन एकल नॊोभकॎय कॊब瘂ोनल बनॊतॊ ऻॖ­

Ni

Pd

Pt
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None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Ni 

91)

Question Stimulus :­

Which of the following has Sp3 hybridization and tetrahedral shape / Sp3  ॠऺठकरण और चतॏ ठफकॎय आक॑ोत ऻख़तॎ ऻॖ­

Fe(CO)5

Ni(CO)4

Both the above/उपयॏ१촉 दख़नख़ ॠ

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Ni(CO)4 

92)

Question Stimulus :­

Fe(CO)5 is­/ Fe(CO)5 ऻॖ­

Sp3 hybridised/ Sp3  ॠऺक瘂रत

dSp3 hybridised/ dSp3  ॠऺक瘂रत

dSp2 hybridised/ dSp2  ॠऺक瘂रत

Sp3d2 hybridised/ Sp3  ॠऺक瘂रत

Correct Answer :­dSp3 hybridised/ dSp3  ॠऺक瘂रत 

93)

Question Stimulus :­

EAN of [Fe (CO)2(NO)2] is­/ [Fe(CO)2(NO)2] कॊ EAN  ऻॖ­

35

36

38
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56

Correct Answer :­36 

94)

Question Stimulus :­

Oxygenases contains­/ऑ鐄ठऺ ॎजनॕऺ म७ ऻख़तॊ ऻॖ­

Zn, Fe

Fe

Mg, Fe

Fe, MO

Correct Answer :­Fe 

95)

Question Stimulus :­

Naturally occurring organometallic compound is­/ᨅक॑ोत म७ उप瘂थत कॊब१धॊ瘂딇क यग़ोगक ऻॖ­

Chlorophyll/鐄ठलख़रॊोफल

Vitamin B12 Co­enzyme/ ोशटॊोमन B12 ऺऻए�ठजॊइम

Myoglobin/मॊयख़괂ठलख़ोबन

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Vitamin B12 Co­enzyme/ ोशटॊोमन B12 ऺऻए�ठजॊइम 

96)

Question Stimulus :­

Which of the following protein is O2 binding?/ोन㸃ठन म७ ऺॕ कग़न­ऺॊ ऑ鐄ठऺ ॎजन बॊॠइोडग ᨅख़टॎन ऻॖ?

Haemoglobin/ऻॎमख़괂ठलख़बॎन

Vitamin B12 / ोशटॊोमन B12
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Both the above/उपयॏ१촉 दख़नख़ ॠ

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Haemoglobin/ऻॎमख़괂ठलख़बॎन 

97)

Question Stimulus :­

Octahedral geometry is ­/अ ठटफलकॎय आक॑ोत ऻॖ­

[Cr(CO)6]

[Fe(CO)5]

Ni(CO)4]

All of these/उपरख़鐄ठत ऺभॎ

Correct Answer :­[Cr(CO)6] 

98)

Question Stimulus :­

Oxidation state of Iron in Deoxymyoglobin is­/ोडऑ鐄ठऺ ॎमॊयख़괂ठलख़ोबन म७ उप瘂थत आयरन कॎ ऑ鐄ठऺ ॎकरण अशठथॊ ऻॖ­

+I

+II

+III

+IV

Correct Answer :­+II 

99)

Question Stimulus :­

[Pd(diph)(SCN)2] and [Pd(diph)(NCS)2] Shows­/[Pd(diph)(SCN)2] और [Pd(diph)(NCS)2]
दषॊ१तॕ ऻ॰­

linkage isomerism/ ोलॠकॕज ऺमॊशयशतॊ
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Hydrate isomerism/ऻॊइड३ ॕट ऺमॊशयशतॊ

Optical isomerism/ᨅकॊषॎय ऺमॊशयशतॊ

Coordination isomerism/ऺऻ ॠऺयख़जॎ ऺमॊशयशतॊ

Correct Answer :­linkage isomerism/ ोलॠकॕज ऺमॊशयशतॊ 

100)

Question Stimulus :­

[Pt(NH3)(P4)(Cl)(Br)] have isomeric forms­/[Pt(NH3)(P4)(Cl)(Br)]  कॕ
ऺमॊशयशॎ ऻ॰­

2

3

4

Zero/षॐ�ठय

Correct Answer :­3 
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